Slate object with x 16, y 3.2 and z 24

snap[(0, 0),(0, 0)]  (snap[(0, 1),(0, D] (snap[(0, 2),(0, 2)]pnap[(1, 0),(1, 0)]

o

Brick object with x 16, y 9.6 and z 32

snap[(0, 0),(0, D] (snap[(0, 1),(1, Dpnap[(1, 0),(0, 0)] )snap[(1, 1),(1, 0)]

=

Brick object with x 16, y 9.6 and z 16

snap[(0, 0),(1, 0)

Brick object with x 16, y 9.@

snap[(0, 0),(0, 2

1pnap((0, 1),(0, 0)]

e

)]pnap[(1, 0),(1, 2)]

=

Slate object with x 16, y 3.2 and z 24

snap[(0, 1),(0, 1)] snap[(0, 2),(1, 1)

Ipnap((1, 1),(0, 0)] )snap((1, 2),(1, 0)]

=

Brick object with x 16, y 9.6 and z 16

snap[(1, 2),(1, 2)]



